g IQ/I(¢_T) —
T=,A1P 5Ag/1-o[ = ,A P L o
A = ,d O pd
/ —
a -
g O]
1% €
/
C
Le/1al = 20 o
of = 5013pP
Og
2
-1 I 1T L IC

= gwp = r ‘ggHitgte = 44,40 = adpd.d = A

1200T 0419n6aY (G86T 'Ie 12 QWIS ‘T96T AJO|Id4) 1IdS "A9p/ |OA ((LL6T) "B 39 uosined
‘(696T) @971 ‘(296T) NIl 72 997 ‘(096T) 4oU0t¥ ‘(SS6T) 1€ 19 AQ|ig :uolisodwodap aAneddiinu e

SOI1eWdUIM



(S/1) 31vd NIVHLS D11SV1d

100051

N o - - = N
Y)X€E
| (g @A+ q)g .
— JIEN) T
° ¢ Y)XE
- KI = ((9) & + )X ?{) uu!s] ) = 1
10000+ E wl 1S
Z S+ T
o INIWIHIdX3 : 251 = e
wn

‘uolpenba o132u Moy onseld e

10000¢

000G¢e

(92671 J10JOPIS 79 NISOPOS| ‘TL6T “IB 19 uye|M ‘beip uoi3ed0|sip
‘066T ‘| 19 uuewuweg ‘Uojlow UoI1eD0[SIp paleAllde-Ajjewdayl)

SSo41S MO|H



m
o
o
w

[ ]
A0SU”9] 24N10$NJ1S

X

4
)

V4
(1777
(/7]
h\hﬁ“ﬁh&thhh
Y

1seid e

uids 2l

S====o=
A

e
——

S109JJ9 24NIX3 L



086T AQUSY 7§ S320D

‘Juspuadapul aunssaid ‘DAI1eID0SSE-UOU I # _ZN : DN
- e - leyl yons ) ssooyd aAIjeidoosseuou e

D — 1= N:_N

~ ~ '~

‘9AIleIDOSSe o

086T AQUSY 7§ S320D

‘Juspuadap a4nssaud ‘DAI1BIDOSSE-UOU HdC]H (w ‘@ ‘g‘SAap)Q(gbg—/\—I)g — gb
:yamMmouab ploA D1d0o4]0SI e
P 14\1[ ~ Il
(1%+dzy> = II D+HINlLgl =
‘1uapuada[?%?rgszgj)do?a/\neposse g/\

N lal + 1l.all (¢ d §rhop)D =:

(¢ —1)€
¢

(9661 IIPMOQDIN 79 ULIBIN) 9INJ4 MOJ} Dlisejaul e

(4T,0) wAs + T =.ag+,0 = da

1=

MO|- Dl1}Se|au] SAI}eIDOSSEUON °SA DAIRBIDOSSY



